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This paper consists of § questions.

Answer any five questions.

The marks of each question are written alongside the questions.

The use of non-programmable calculators is permitted,
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Why is GDP not a good measure of economic well-being ?
In this context, explain why we must emphasize the multi-
dimensional concept of development. 5,10
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(@)  Authoritarianism is neither necessary nor sufficient for
economic development. Analyze this in the context of
the growth process of India and China.

(b)  Discuss the proximate causes underlying the differences

between rich and poor nations. 10,5
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The Harrod-Domar growth model states that a country’s growth
rate of per capita income depends on its rate of savings,
whereas the Solow growth model predicts that a higher savings
rate is incapable of leading to sustained long-run per-capita
economic growth in the absence of technical progress. Explain

these assertions. 15
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(a) Show that a Lorenz curve satisfies all four principles

of inequality. 5
(b) Draw a Lorenz curve and calculate the Gini coefficient

using the following data, where the first set represents

incomes and the second set repx;esents the number of

people' earning th_em :7

(n (100, 200, 300, 400); (125, 25, 50, 25)

(if) (200, 400, 600, 800); (250, 50, 100, 25) -

Which of these depict greater inequality, and

why 2 : 0
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(31) m fF @S 9% SEEEd = 4t =R : (@) (6 Calculatel the Head Count ratio in both countries.
m - "FWIQ H 1 ! o Would a regressive transfer make and difference -

(w) @it % & e aEd g e eitmel ; to the head count ratio ? 3
1 aifEd T fir Tm—a; F o B | v (i) Calculate the'lncom-e Gap Ratio in both
& TEen @2 I H it m T s countries. )
G T FAT FO T il F HE =1 (i) In Country B if Rs. 10 is trarisferred from the first
gl 3. i : . to the second individual, how will that affect the

() - (100, 200, 300, 400); (125, 25, 50, 25) ' Income Gap Rati(: 2 Explain your answer, 2

(i) (200, 400, 600, 800); (250, 50, 100, 25y A% (b) - Discuss briefly the measure of poverty that considers

g ?ﬁ'e( ES B affer STEHTA Wh" % Sﬁ'( the aspect of relative deprivation among the poor. 3
R (¢) Calculate the Gini coefficient of both countries A

. and B. y ‘ 5

The table below provides the incomes per day for the 6
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individuals _comprising the population in countries A and B.
Assume that the poverty lines are Rs. 120 per capita per day

in both countries :

ufy =afea wfafeR oma (¥99)

Income per Person per day (Rs.)

Person | Person | Person Person | Person | Person j ;
1 2 3 4 5 6
[P 2 %, 4 5 6 ;
; YT A 0o | 200 | 100 1o | 1s0 | 200 -
Country A 100 200 100 - 110 150 200 |
g - - 29T B %0 100 | 150 oo | 10 | 200
Country B 90 100 150 100 150 200
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Comment on : : 7%, 1%

(@) ‘Neutrality” of growth rates with respect to per capita
income as predicted by the Harrod-Domar growth
model.

(b) Sen’s view of poverty as capability deprivation.
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Discuss why neither state governance nor the market is

" uniformly successful in sustaining natural resource systems.

What could the alternative solutions be ? j151
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Explain how the imperative of secrecy makes a system of
bribery more costly and distortionary than the taxation system,

for both corruptions with and without theft. 15
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